Dr. Dish Initial Setup




Unboxing the Dr. Dish

1.

Remove staples on bottom of box 2 . Lift box up and over the Dr. Dish

<> <>

1\5‘7\%

A. Cut plastic ties and remove Shots 4 Lift the Dr. Dish up (2 people required!)
Made Counter (Pro and All-Star models only) .

and move to the edge of the palletin or-
B. Remove plastic bags, cut remaining der to install front casters.

plastic ties and remove plastic wrap from

net poles.

7
(=

T

N/
N\

\ A
E——————
<</
\!
\
\
)
t\‘,‘ J’ b\
Y L

= —<

www.airborneathletics.com

2



Unboxing the Dr. Dish cont.

Install the Casters using a 3/4in wrench (not included) on the underside of the
5 . caster and 9/16” wrench (not included) on the nut. Repeat to the other side of the
Dr. Dish.

When casters are installed and
6 e tight, remove the Dr. Dish from

the Pallet.

.—' = -X!-l

e

i T 5

www.airborneathletics.com




Included with the Dr. Dish

Items in parts box

Shots made Counter parts

Ball Speed handle

Shots Made Counter Head
M6 bolt x 4

(Pro and All-Star Model only)

M10 bolt x 2
(Pro & All-Star only)

M10 lock nut x 2 %

(Pro & All-Star only)

N 8mm Allen Wrench

\] (Pro & All-Star only)

Shots Made Counter Handle

Flash Drive (Pro & All-Star Model only)
(Pro & All-Star only)

= ‘ 17mm Wrench T
, (Pro & All-Star only) /
Remote |

(Pro & All-Star only)

TN
GmD I User Manual
\" *Not Shown*

Power Supply and cable

www.airborneathletics.com

4



Dr. Dish Assembly

Install handle using 4 M6 bolts with
included 4mm allen wrench

e —

Note: Move to level 3

for easy access.

Shots Made Counter Use 17mm wrench and 8mm allen Completed Shots

(Pro and All-Star models only) wrench (included) to install (2)
M10 bolts and M10 lock nuts

/

[ NE b "
ﬁ?

Made Counter

Tkt

Thread Cable

{

When assembling orient

the handle as shown. \
(Pro Model only)

May be pre assembled
from the factory

www.airborneathletics.com

5



